SMSEE[—REET] EBERE AHLEER
BIREE | AfERR H4 TER |(ZosE|fsrEEk EALESE (ERT-EM-RERE) EBiLE5(FHA-M) | FEME EGA-M) | BITHIR BE
HRARBEMLUMIE=ZTH25%55
1 5.3.17| K8R35 L £ SE0R BE | ey 6 |BmmoEs E2 Y EIN 6.331
th# REDEGE TR @2FI555K0E (BiHRS)
HRHAFBEXHAIMN LRET—TB2%#h34 {224
2 5317 SERFANERZR(BEET RN E=E biE 5 e e @15,700 (%3 ;};C'e') E (/N 5| 6.3.31
REIFE INBTFF SO
J\CETIL KRB E/NE R E A FA KA - SH A ER = b — _
3 5427\ wapis T I$E§IEX¥?§§E% | #%B 548 5 |AIBAMLFHIZEYAFLFILE JENBE 6.1.19
N e . . HRAGEXRAMHEITE26%E135
NXELAEBPFERERIII R399 = e NSt
4 5427\ e T E THEEEREL o6 T 5 @%E"@m%ﬁ%ﬁ 2,090,000 EING 6.1.19
o\ e S e S ERBTREX AT 14578
5 5427/  XHL=RNFEMAZSRHIMT | o | s 5 |KStt MERHBEHR 4,070,000 N 5.10.31
%L%édﬂﬁ&l)\%ﬁﬁ&n‘l‘%ﬁxﬁ ﬁiﬁlﬁ@: Eig?iéﬁ
J\CETIL =R /NERRESEIAKAL - S AR RREERER T H12%235
6 5421|BETEH VI LUERERIBIEICER | &5 54 5 B N\FHILRETERFEARER 12,540,000 E[3/NE | 5.10.31
SRERUVEMERTERSER BFRITRE #ElEs
= g S 2T HRABRBER-TH12%235
7 54,07 NEITL=RNERBIASRTOVIHE | g | g 5 MR\ LR R R A 1760000  FE4AR 57,14
1@‘1%(-%6&%&0%7@&#%&::& Hﬂﬁiﬂ.ﬁ'&é *;LLI f#]*ﬁ
Egﬂ HREER/\ X B/\XETKEE3115
8 5428/ \X BT TEEFREARETERRT m; a4 6 RS E BT 9,350,000 E (/N 5| 6.3.31
= RTINS BLEth
RAEA/\XE/\XET=4R181%F 15
9 558| 7R/ TR RGAEMEERES B 54 5 E)ILEE 2,640,000 JEN B 5.8.25
REIEHR MNEBE
Egﬂ HREE/\XB/\XETKEE3115
10 5515\ \XETTEFERAXKEEERTRER mg; biE 6 RS B 1,028,500 JEN R 6.3.31
= RIS BLEth
REA/\XE/\XET=1R181%F 15
11 5515\ Y1 E 1 SRBEMHIEER B 54 5 (Bl E 2,310,000 JEN B 5.9.26
REIEHR MNEBE
BN\ X & /\LET K& $8330F i
12 5.5.15| 78 B ith 1525 th B SR8 E MR E R B 54 5 et KEE 4,180,000 E[3/NE | 5.9.29
REmIMBR KE —H
13 5515/ /\X BT T&HM R HEARERSE B it 6 AFLFER - JEN B 6.3.31

* RS RVBEITHREZHERTT




SIS FEE[—HEEE] XBERE AFLEER
BIREE| AfERR H4 TER |(ZHosE|fsrEEk EALESE (ERT-B M- RERE) EFL 25 (FA-M) F e (Fia-M) | E1THIR iBE
—EEVMVERAATBERELEZRRY RRSFERILEHE2TE21HIS
14 55.31|BIREMESH R EBHE (E_%K | R 54 5 ERMEMERRXE 6,600,000 E[/NE 5.3.29
EEHER XER WBIIEME
J\LETIL R E BN B SEFA KA - H KB = e =@ _
15 5.6.23 30 4s T 8 I$;!§I£¥§%§§% %E 54 5 ATEALFFRAICKY AFLFLE E|/N: 6.2.16
o w TIEAE ) Nw) /g e =n RRATRER#GABH=TR7H 1S
16 5.6.23 EEEX'_'_‘_ VREBHZ NNV TRIEER| gy % 5 |AANEEXE 2,024,000 [N 5.10.31
" XER BAREN
PN i g8 w4 o = HRAMEAARRMFR2—7—3
17 5.6.23 %ggﬁr,ﬁ;g&%mﬂgiﬂugﬁ AEER E8 e 7 E T E R 2,816,000 E (/N 5| 6.2.29
[l o 1‘%%Hﬂﬁ?§*i§ QQEE
- - RN e HEEERER T H12%238
18 5.7.14 zfgﬁ%}iﬁ%%ggék%%ﬁ%fﬁ BE 54 5 |[#MASHIZNFHILBHEREARL 4,510,000 E| 37N | 5.11.30
IR ONES ST BT S AL
+ " R ﬁ%ﬁﬁ/\%%/&ﬁk’ﬁ?ﬁﬂmoe%tﬁs
LB AERERRERTRRRVF - e B L ES
19 5714l ia % e o BB 54 6 ORI L BES 1,078,000 E[3/NE | 6.3.29
FE KERIRFHE L @S
LR REEARRI—BTIBEUE-FE | . SR/ \ 3L B/ \SLBT = 484860 % 26
S s R | BB S RmIBE RERHE AL RY 1298000 3B 5922
21 5.727|AEREfREFERT B 54 5 AFLFFR - E[3/NE | 5.11.24
BRI ITEFILL=TH16%E155
22 582(H8)I| —SBHERAERER EE 54 7 BRI YLV ERXE 5,170,000 E[/NE 5.3.29
XER KHEE
23 | 5014 PICTRLOESEMBRBAMORR pe | ma | 5 |[KISALFBCLYDL R 6831
HEAR/\XE/\XETKE #8330
24 5.9.14| i K E B BEKSRIEET B 54 5  [EOKAEHE 4,840,000 E[/NE 5.1.31
KRR KE—
HRA/\XE/\XET=1R181Fith5
25 5.9.28| =1R1790F Hh 2k kK& (M11) K IE#E HEA 54 5 ()i ILE 1,949,090 E (/N 5| 5.11.30
REIFHEER NEBE
REA/\LE/\XLET=1R181F& 5
26 5.9.28| K& #1347 F 2Rk AKFE (0-27) fm/KIEHE | JHEA B4 5 @)FILEE 1,949,090 E[37NE 6.2.29
REmMBER MNEEE

* RS RVBEITHREZHERTT




S FE(—MRRF] EBERF ARLAER

BIREE| AfERR H4 TER |(ZHosE|fsrEEk EALESE (ERT-B M- RERE) EFL 25 (FA-M) P EAMAE (A - M) | BITHIR iBE
REA/\XE/\XET=4R181%F 15
27 5.10.31| K & 474 F HBh Ak K48 (0-30) fRKIE#E HRS 54 5 @)L EE 1,949,090 JEN B 6.2.29

KERHR NEEE

HRA/\XE/\XET=1R181Fith5
28 512.12| \XETHREKLEHEEHEET E#8 58 6 @)L s 847,000 E|/N: 6.3.29
REIHEER NMNEBE

RAEAN/\XE/\XET=4R2036% 1h
29 5.12.12| \XETFIRE KN EHERIBERT EE 54 5 EEESRERE 3,762,000 E[/NE 6.3.29
REDMFHE =B EE

= - : L £ 7 REE/\LB/\XLET=4R181F 5
30 5.12.12 f,é;',‘;%%%w%z'ﬁ&imﬁ%**m EE 5% 5  |ERLEE 2,376,000 E[F/NEH 6.3.28
=8 REIFHEER NEBE
oW TrpiE o= RAASHASRAKFE—TH4E21E
/\IWTI_"*“_JJEZTI'\—‘J’AEYES}?iﬁ\ 5'5177 2 = N 25 S ez e =
31 51219 D1 T8 sy B SR E§ 54 5 _E‘é'“!ﬁiﬁﬁﬁﬁx(ﬁ)iﬁl%%!’ﬁ 6,490,000 E[/NE 6.3.8
ik &2
BN\ X & /\LET K& $18330F i 2376000
32 6.1.11|JII By R T EREOVEIRERRT EH 54 6 HAst KiEE EHEE E[3/NE | 6.3.29
REIBEE KE —HK 3,051,400
33 6.122|" \Imiiﬁ E’iﬁﬁxﬁgjﬁwﬂgﬁgﬁg £ 54 14 |EaLiket 3,769,920 JENBE 14.2.29
(AED) EE B %7

HKERHERER BB

RRABTHRAXHEFE=TE7E 15
34 6.1.24| KEEEE MR ERRIT EE b 7 |WAANEEXE 3,630,000 I BE 6.3.29
XER BAREN

N . REHTRRESTH2ES
;g%ﬁ@%ﬁ;ﬁﬁ%ﬁ%*“353“" R | 54 8 |MhhoEEEET RS EET 9,790,000 PN 7321

miREItR EAHSE

35 6.2.28

* RS RVBEITHREZHERTT




